LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL				
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-60312-6838c0e156f3d VERIFY.FTGS.US Date : May 29, 2025				
Seller (Exporter) ORLY INTERNATIONAL 7710 Haskell Avenue	Transport Type Air	Port of Loadin Los Angeles	Port of Loading Los Angeles		
Los Angeles California 91406 United States	Destination Country Saudi Arabia	Destination Po King Khalid	Destination Port King Khalid		
Consignee	Export Date	Exporting Carr *********	Exporting Carrier		
ORLY INTERNATIONAL, INC 7710 HASKELL AVE VAN NUYS, CA 91406	Import Permit Number	Bill of Lading /	AWB		
United States	Owner or Agent	Forwarding Ag	ent		
Buyer (Importer) DAR MADI INTNL CO. DABBAB STREET, AL SULIMANIYAH, BOX 25862, 11476 RIYADH, Saudi Arabia	Remarks				
Description (May include notes on Quantity, Item Number, Marks and Numbers, k	(ind of Packages.)	Weight	Country of Origin		
NAIL POLISH/TREATMENT		2,536.60 KG	United States		
H.S.Code: 3304.30.0000 Marks: 260 CARTONS					
LOTIONS H.S.Code: 3304.99.5000 Marks: 177 CARTONS	202	1567 KG	United States		
LITERATURE H.S.Code: 4911.10.0090 Marks: 4 CARTONS	MERC	79.2 KG	United States		
DISPLAYS H.S.Code: 9403.89.0000 Marks: 5 CARTONS TE OF O	RIGIN	19.8 KG	United States		
=====end of products=============	32100201				
40 PLO CHAMBERS FEDER	TION				
CERTIFICATE Accredited Char Topological	 The above-mentioned goods on origin applicable in the country(-The information in this certifica Commerce ("LAACC") is accurate -The Applicant undertakes to ad Certificate (or to whom the Certificate (iginate in the country(ies) specifie ies) to those goods. te and in any documents provided e, true and complete. vise LAACC and any other person(ficate is provided to with the know hange in such information, or in th present upon request, such docu ss of this certificate and accompa s issuance of this Certificate, the A	mentation as is necessary to verify the nying documents. hpplicant agrees to release, discharge and ance of this certificate and to indemnify in connection herewith.		

ORLY International 7710 Haskell Avenue Los Angeles, California 91406 USA 800 275 1111 • B18 994 1001 • F 818 994 1144 orlybeauty.com

DABBAB STREET, AL SULIMANIYAH

Sold-To:

DAR MADI INTNL CO.

P.O. BOX 25862

11476 RIYADH

Saudi Arabia Map

Credit Terms:

Resale:

Remarks:

COMMERCIAL INVOICE

HAZARDOUS

Page 1 of 3

Order Number(s): SO400858 Date: 5/6/2025 Country of Origin: United States

Ship-To: DAR MADI INTNL CO. DABBAB STREET, AL SULIMANIYAH P.O. BOX 25862 11476 RIYADH Saudi Arabia

Attention: MADI IN Telephone: 818-994-1001 Purchase Order(s): AIR-KSA Ship Via: Air Freight Terms: Ex Works

		Ū			
Ln Item Nbr	Description	Qty UM	Net Price	Ext Price	HS Code
1 2000386	ORLY® LAQ US .6 FI. Oz. / Oz. Liq. 18 mL e STAY RAD	36 EA	2.840	102.24	3304.30.0000
2 2000387	ORLY® LAQ US .6 FI. Oz. / Oz. Liq. 18 mL e BE KIND REWII	36 EA	2.840	102.24	3304.30.0000
3 2000388	ORLY® LAQ US .6 FI. Oz. / Oz. Liq. 18 mL e SHUT UP HEAT	36 EA	2.840	102.24	3304.30.0000
4 2000389	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e MOST DEFINIT	36 EA	2.840	102.24	3304.30.0000
5 2000390	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e COWABUNGA!	36 EA	2.840	102.24	3304.30.0000
6 2000391	ORLY® LAQ US .6 FI. Oz. / Oz. Lig. 18 mL e MALLRAT	36 EA	2.840	102.24	3304.30.0000
7 2500082	ORLY LACQUER 6PIX SUMMER 2025 1980s	36 EA	19.350	696.60	3304.30.0000
8 3010386	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Lig. 18 mL e STAY	36 EA	6.270	225.72	3304.30.0000
9 3010387	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Liq. 18 mL e BE KI	36 EA	6.270	225.72	3304.30.0000
10 3010388	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Lig. 18 mL e SHUT	36 EA	6.270	225.72	3304.30.0000
11 3010390	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Liq. 18 mL e COWA	36 EA	6.270	225.72	3304.30.0000
12 3010391	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Lig. 18 mL e MALLF	36 EA	6.270	225.72	3304.30.0000
13 2000159	ORLY LAQ .6fl oz/18ml ARTIST'S GARDEN	36 EA	2.840	102.24	3304.30.0000
14 22005	ORLY FM LAQ .6fl oz/18ml BARE ROSE	72 EA	2.840	204.48	3304.30.0000
15 20866	ORLY LAQ .6fl oz/18ml BEAUTIFULLY BIZARRE	144 EA	2.840	408.96	3304.30.0000
16 22105	ORLY FM LAQ .6fl oz/18ml BEVERLY HILLS PLUM	36 EA	2.840	102.24	3304.30.0000
17 2000160	ORLY LAQ .6fl oz/18ml BLEU IRIS	36 EA	2.840	102.24	3304.30.0000
18 20087	ORLY LAQ .6fl oz/18ml BUS STOP CRIMSON	252 EA	2.840	715.68	3304.30.0000
19 20844	ORLY LAQ .6fl oz/18ml CAKE POP	216 EA	2.840	613.44	3304.30.0000
20 2000002	ORLY LAQ .6fl oz/18ml CASHMERE CRISIS	36 EA	2.840	102.24	3304.30.0000
21 2000216	ORLY LAQ .6fl oz/18ml CECI N'EST PAS BLANC	36 EA	2.840	102.24	3304.30.0000
22 2000240	ORLY LAQ .6fl oz/18ml CHECK YES OR NO	36 EA	2.840	102.24	3304.30.0000
23 20575	ORLY LAQ .6fl oz/18ml COFFEE BREAK	72 EA	2.840	204.48	3304.30.0000
24 20693	ORLY LAQ .6fl oz/18ml CONFETTI	360 EA	2.840	1,022.40	3304.30.0000
25 20670	ORLY LAQ .6fl oz/18ml CUPCAKE	180 EA	2.840	511.20	3304.30.0000
26 2000157	ORLY LAQ .6fl oz/18ml DANSE WITH ME	36 EA	2.840	102.24	3304.30.0000
27 20942	ORLY LAQ .6fl oz/18ml FAUX PEARL	72 EA	2.840	204.48	3304.30.0000
28 20675	ORLY LAQ .6fl oz/18ml FIRST KISS	72 EA	2.840	204.48	3304.30.0000
29 2000096	ORLY LAQ .6fl oz/18ml HAPPY CAMPER	36 EA	2.840	102.24	3304.30.0000
30 20001	ORLY LAQ .6fl oz/18ml HAUTE RED	144 EA	2.840	408.96	3304.30.0000
31 20935	ORLY LAQ .6fl oz/18ml JUST BITTEN	324 EA	2.840	920.16	3304.30.0000
32 2000100	ORLY LAQ .6fl oz/18ml KALEIDOSCOPE EYES	36 EA	2.840	102.24	3304.30.0000
33 20016	ORLY LAQ .6fl oz/18ml KISS THE BRIDE	180 EA	2.840	511.20	3304.30.0000
34 20008	ORLY LAQ .6fl oz/18ml LIFT THE VEIL	144 EA	2.840	408.96	3304.30.0000
35 2000038	ORLY LAQ .6fl oz/18ml LILAC YOU MEAN IT	36 EA	2.840	102.24	3304.30.0000
36 20484	ORLY LAQ .6fl oz/18ml LIQUID VINYL	36 EA	2.840	102.24	3304.30.0000
37 2000012	ORLY LAQ .6fl oz/18ml LOVELLA	108 EA	2.840	306.72	3304.30.0000
38 20025	ORLY LAQ .6fl oz/18ml MA CHERIE	36 EA	2.840	102.24	3304.30.0000
39 2000241	ORLY LAQ .6fl oz/18ml MEET CUTE	36 EA	2.840	102.24	3304.30.0000
40 20006	ORLY LAQ .6fl oz/18ml NAUGHTY	216 EA	2.840	613.44	3304.30.0000
41 2000063	ORLY LAQ .6fl oz/18ml OPULENT OBSESSION	36 EA	2.840	102.24	3304.30.0000
42 2000156	ORLY LAQ .6fl oz/18ml PARCS & PARASOLS	36 EA	2.840	102.24	3304.30.0000
43 20944	ORLY LAQ .6fl oz/18ml PENNY LEATHER	36 EA	2.840	102.24	3304.30.0000
43 20944 44 2000212	ORLY LAQ .6fl oz/18ml PERSISTENT MEMORY	72 EA	2.840	204.48	3304.30.0000
44 2000212	ORLT LAQ .011 02/101111 PERSISTENT MEMORT	12 LA	2.040	207,70	0004.00.0000







45 22009	ORLY FM LAQ .6fl oz/18ml PINK NUDE	432 EA	2.840	1,226.88	3304.30.0000
46 20651	ORLY LAQ .6fl oz/18ml PLUM NOIR	36 EA	2.840	102.24	3304.30.0000
47 22503	ORLY FM LAQ .6fl oz/18ml POINTE BLANCHE	216 EA	2.840	613.44	3304.30.0000
48 20754	ORLY LAQ .6fl oz/18ml PRELUDE TO A KISS	36 EA	2.840	102.24	3304.30.0000
49 20715	ORLY LAQ .6fl oz/18ml PRINCE CHARMING	36 EA	2.840	102.24	3304.30.0000
50 2000161	ORLY LAQ .6fl oz/18ml PROVENCE AT DUSK	36 EA	2.840	102.24	3304.30.0000
51 20076	ORLY LAQ .6fl oz/18ml RED FLARE	252 EA	2.840	715.68	3304.30.0000
52 2000058	ORLY LAQ .6fl oz/18ml ROAM WITH ME	72 EA	2.840	204.48	3304.30.0000
53 2000021	ORLY LAQ .6fl oz/18ml ROSE ALL DAY	72 EA	2.840	204.48	3304.30.0000
54 22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASSES	540 EA	2.840	1,533.60	3304.30.0000
55 20363	ORLY LAQ .6fl oz/18ml RUBY	324 EA	2.840	920.16	3304.30.0000
56 20186	ORLY LAQ .6fl oz/18ml SEASHELL	36 EA	2.840	102.24	3304.30.0000
57 2000300	ORLY LAQ .6fl oz/18ml SHAKY ALIBI	36 EA	2.840	102.24	3304.30.0000
58 20943	ORLY LAQ .6fl oz/18ml STILETTO ON THE RUN	216 EA	2.840	613.44	3304.30.0000
59 22001	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	360 EA	2.840	1,022.40	3304.30.0000
60 2000061	ORLY LAQ .6fl oz/18ml WILD ABANDON	36 EA	2.840	102.24	3304.30.0000
61 20757	ORLY LAQ .6fl oz/18ml YOU'RE BLUSHING	72 EA	2.840	204.48	3304.30.0000
62 24110	ORLY TRT .6fl oz/18ml BONDER BASECOAT	1476 EA	3.120	4,605.12	3304.30.0000
63 24114	ORLY TRT 4fl oz/118ml BONDER BASECOAT	48 EA	8.610	413.28	3304.30.0000
64 24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	36 EA	3.120	112.32	3304.30.0000
65 24210				224.64	
	ORLY TRT .6fl oz/18ml GLOSSER	72 EA	3.120		3304.30.0000
66 24230	ORLY TRT .6fl oz/18ml WON'T CHIP	36 EA	3.120	112.32	3304.30.0000
67 24270	ORLY TRT .6fl oz/18ml POLISHIELD	2088 EA	3.120	6,514.56	3304.30.0000
68 24274	ORLY TRT 4fl oz/118ml POLISHIELD	96 EA	8.610	826.56	3304.30.0000
69 24310	ORLY TRT .6fl oz/18ml SEC N' DRY	360 EA	3.120	1,123.20	3304.30.0000
70 24314	ORLY TRT 4fl oz/118ml SEC N' DRY	48 EA	8.610	413.28	3304.30.0000
71 24320	ORLY TRT .6fl oz/18ml IN A SNAP	36 EA	3.120	112.32	3304.30.0000
72 24510	ORLY TRT .6fl oz/18ml CUTIQUE	108 EA	3.120	336.96	3304.30.0000
73 24554	ORLY TRT 4fl oz/118ml CUTICLE OIL+ (PLUS)	384 EA	8.135	3,123.65	3304.30.0000
74 24670	ORLY ESS 4fl oz/118ml CLEAN PREP	276 EA	3.510	968.76	3304.30.0000
75 24660	ORLY ESS 16fl oz/473ml CLEAN PREP	48 EA	8.610	413.28	3304.30.0000
76 24340	ORLY TRT .6fl oz/18ml FLASH DRY	540 EA	3.600	1,944.00	3304.30.0000
77 24344	ORLY TRT 4fl oz/118ml FLASH DRY	120 EA	10.230	1,227.60	3304.30.0000
78 24160	ORLY TRT .6fl oz/18ml NAILTRITION	36 EA	3.600	129.60	3304.30.0000
79 24500	ORLY TRT .6fl oz/18ml ARGAN OIL CUTICLE DROPS	432 EA	3.600	1,555.20	3304.30.0000
80 26077	ORLY PED 4fl oz/118ml CALLUS ERASER	300 EA	4.055	1,216.35	3304.30.0000
81 26078	ORLY PED 16.5fl oz/488ml CALLUS ERASER	16 EA	9.690	155.04	3304.30.0000
82 26058	ORLY PRO 33.8oz/958g PURIFYING SOAK	468 EA	10.175	4,761.67	3307.30.0000
83 23038	ORLY PRO 1Gal/3.78L MOISTURIZING EXFOLIATOR	174 EA	36.975	6,433.65	3304.99.5000
84 23037	ORLY PRO 26.5fl oz/784ml MOISTURIZING EXFOLIATOR	122 EA	13.235	1,614.67	3304.99.5000
85 26089	ORLY PRO 26.5fl oz/784ml RENEWING MASK	160 EA	15.275	2,443.92	3304.99.5000
86 26048	ORLY PRO 33fl oz/976ml MASSAGE CREME	288 EA	8.925	2,570.40	3304.99.5000
87 26046	ORLY PRO 8.5fl oz/251ml MASSAGE CREME	80 EA	3.035	242.76	3304.99.5000
88 23575	ORLY ZEBRA BOARD CANISTER 74PC PK	6 EA	48.000	288.00	6805.20.0000
89 23209	ORLY ESS 16fl oz/473ml GENTLE-STR NAIL LAQ RMVR	12 EA	5.390	64.68	3304.30.0000
90 23135	ORLY ESS 2fl oz/59ml NAIL LACQUER THINNER	84 EA	2.700	226.80	3304.30.0000
91 23115	ORLY 32fl oz946ml GENIUS ALL PURPOSE REMOVER	224 EA	10.500	2,352.00	3304.30.0000
92 2460003	ORLY BRTHABLE TRT.6fl oz /18ml CUTICLE OIL	36 EA	4.050	145.80	3304.30.0000
93 2060015	ORLY BREATHABLE .6fl oz /18ml CHERRY BOMB	36 EA	2.640	95.04	3304.30.0000
94 20910	ORLY BREATHABLE .6fl oz /18ml HAPPY & HEALTHY	36 EA	2.640	95.04	3304.30.0000
95 20953	ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	216 EA	2.640	570.24	3304.30.0000
96 20905	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	36 EA	2.640	95.04	3304.30.0000
97 20963	ORLY BREATHABLE .6fl oz /18ml NAMASTE HEALTHY	36 EA	2.640	95.04	3304.30.0000
98 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUDE	108 EA	2.640	285.12	3304.30.0000
99 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLION	36 EA	2.640	95.04	3304.30.0000
100 20913	ORLY BREATHABLE .6fl oz /18ml PAMPER ME		2.640	190.08	
		72 EA			3304.30.0000
101 20988	ORLY BREATHABLE .6fl oz /18ml PATIENCE AND PEACE	36 EA	2.640	95.04	3304.30.0000
102 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	72 EA	2.640	190.08	3304.30.0000
103 2060016	ORLY BREATHABLE .6fl oz /18ml RIDE OR DIE	36 EA	2.640	95.04	3304.30.0000





104 20966	ORLY BREATHABLE .6fl oz /18ml SHEER LUCK	36 EA	2.640	95.04	3304.30.0000
105 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	72 EA	2.640	190.08	3304.30.0000
106 2060014	ORLY BREATHABLE .6fl oz /18ml YOU'RE A DOLL	36 EA	2.640	95.04	3304.30.0000
107 3510004	GELFX .6fl oz/18ml BUILDER IN A BOTTLE INTRO KIT PRO	24 EA	26.990	647.76	3304.30.0000
108 34000	GEL FX .6fl oz/18ml BODY GUARD	24 EA	10.800	259.20	3304.30.0000
109 34110	GEL FX TRT .3fl oz/9ml BASECOAT	48 EA	5.130	246.24	3304.30.0000
110 34210	GEL FX TRT .3fl oz/9ml TOPCOAT	96 EA	5.130	492.48	3304.30.0000
111 3423001	GEL FX TRT .3fl oz/9ml NO CLEANSE TOPCOAT	96 EA	5.130	492.48	3304.30.0000
112 3350005	GEL FX PERFECT FIT NAIL FORM 300/PACK	8 EA	8.610	68.88	8214.20.0000
113 3350002	GEL FX BLDR BUFFER/FILE 5 PACK 180 GRIT/100 GRIT	140 EA	4.730	662.20	6805.20.0000
114 33510	ORLY BUFFER	36 EA	1.220	43.92	6805.20.0000
115 24514 116 20064 117 20984 118 23574 119 2001009 120 2061005 121 3510000D	ORLY TRT 4fl oz/118ml CUTIQUE ORLY LAQ. 6fl oz/18ml ORLON BASECOAT ORLY BREATHABLE .6fl oz /18ml GRATEFUL HEART ORLY BLACK BOARD CANISTER 100PC PK ORLY PRO NAIL PALETTE SET 2024 ORLY BREATHABLE NAIL PALETTE SET 2024 ORLY 21pc INTRO GELFX ESSENTIALS DISPLAY	624 EA 72 EA 36 EA 2 PK 300 EA 300 EA 50 EA	7.625 2.840 2.640 40.000 0.020 0.020 0.020	4,757.69 204.48 95.04 80.00 6.00* 6.00* 1.00*	3304.30.0000 3304.30.0000 3304.30.0000 6805.20.0000 4911.10.0090 4911.10.0090 9403.89.0000
121 3310000D	ONLY 2100 INTRO GELEA ESSENTIALS DISPLAT	JU EA	0.020	1.00	3403.09.0000

*NO CHARGE PRODUCTS SAMPLES - TOTAL VALUE FOR CUSTOMS ONLY \$13.00

	Line Total	76,516.44
Currency: USD	TOTAL INVOICE	76,516.44

Cu







ORLY International 7710 Haskell Avenue Los Angeles, California 91406 USA 800 275 111 • Bi8 994 1001 • F 818 994 1144 orlybeauty.com

DABBAB STREET, AL SULIMANIYAH

PACKING LIST

Page 1 of 3

Order Number(s): SO400858 Date: 5/7/2025 Country of Origin: United States

Ship-To: DAR MADI INTNL CO. DABBAB STREET, AL SULIMANIYAH P.O. BOX 25862 11476 RIYADH Saudi Arabia

Attention: MADI IN Telephone: 818-994-1001 Purchase Order(s): AIR-KSA Ship Via: AIR Freight Terms: Ex Works

4 PALLETS 1645.69 Kg HAZ

Sold-To:

DAR MADI INTNL CO.

P.O. BOX 25862

11476 RIYADH Saudi Arabia

8 PALLETS 2601.31 Kg NON-HAZ

Credit Terms:

Resale: Remarks:

PALLETS 2601.31 K	g NON-HAZ				
Ln Item Nbr	Description	Qty UM	Ctn#	PALLET	Batch#
1 2000386	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e STAY RAD	36 EA	1	1	120085XB
2 2000387	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e BE KIND REWIND	36 EA	1	1	120095XA
3 2000388	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e SHUT UP HEATHER	36 EA	1	1	120105XA
4 2000389	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e MOST DEFINITELY	36 EA	1	1	120105XA
5 2000390	ORLY® LAQ US .6 Fl. Oz. / Oz. Liq. 18 mL e COWABUNGA!	36 EA	2	1	120135XA
6 2000391	ORLY® LAQ US .6 Fl. Oz. / Oz. Lig. 18 mL e MALLRAT	36 EA	2	1	120145XA
7 2500082	ORLY LACQUER 6PIX SUMMER 2025 1980s	36 EA	49-52.81	1.3	3212025 (13)
					3102025 (18)
					3072025 (5)
8 3010386	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Liq. 18 mL e STAY RAD	36 EA	406	11	P60345XA
9 3010387	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Liq. 18 mL e BE KIND RE	36 EA	406	11	P60305XA
10 3010388	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Liq. 18 mL e SHUT UP H	36 EA	406	11	P60355XA
11 3010390	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Liq. 18 mL e COWABUN	36 EA	406	11	P60365XA
12 3010391	ORLY® GELFX® CLR US .6 Fl. Oz. / Oz. Liq. 18 mL e MALLRAT	36 EA	407	12	P60375XA
13 2000159	ORLY LAQ .6fl oz/18ml ARTIST'S GARDEN	36 EA	2	1	071914XA
14 22005	ORLY FM LAQ .6fl oz/18ml BARE ROSE	72 EA	3	1	072284XB
15 20866	ORLY LAQ .6fl oz/18ml BEAUTIFULLY BIZARRE	144 EA	4	1	070495XA
16 22105	ORLY FM LAQ .6fl oz/18ml BEVERLY HILLS PLUM	36 EA	3	1	P53534XA
17 2000160	ORLY LAQ .6fl oz/18ml BLEU IRIS	36 EA	3	1	033104XA
18 20087	ORLY LAQ .6fl oz/18ml BUS STOP CRIMSON	252 EA	5.6.	1	031125XA
19 20844	ORLY LAQ .6fl oz/18ml CAKE POP	216 EA	7.9.	1	030935XA
20 2000002	ORLY LAQ .6fl oz/18ml CASHMERE CRISIS	36 EA	2	1	070925XA
21 2000216	ORLY LAQ .6fl oz/18ml CECI N'EST PAS BLANC	36 EA	8	1	071924XA
22 2000240	ORLY LAQ .6fl oz/18ml CHECK YES OR NO	36 EA	8	1	032614XA
23 20575	ORLY LAQ .6fl oz/18ml COFFEE BREAK	72 EA	8	1	123044XA
24 20693	ORLY LAQ .6fl oz/18ml CONFETTI	360 EA	10.11.9.	1	033444XA (219)
					030925XA (141)
25 20670	ORLY LAQ .6fl oz/18ml CUPCAKE	180 EA	12.19.	1	070565XA
26 2000157	ORLY LAQ .6fl oz/18ml DANSE WITH ME	36 EA	6	1	071374XA
27 20942	ORLY LAQ .6fl oz/18ml FAUX PEARL	72 EA	13	1	032924XA
28 20675	ORLY LAQ .6fl oz/18ml FIRST KISS	72 EA	13	1	032884XA
29 2000096	ORLY LAQ .6fl oz/18ml HAPPY CAMPER	36 EA	22	1	123054XA
30 20001	ORLY LAQ .6fl oz/18ml HAUTE RED	144 EA	14	1	033374XA
31 20935	ORLY LAQ .6fl oz/18ml JUST BITTEN	324 EA	15.16.28	1	070485XA
32 2000100	ORLY LAQ .6fl oz/18ml KALEIDOSCOPE EYES	36 EA	23	1	123314XA
33 20016	ORLY LAQ .6fl oz/18ml KISS THE BRIDE	180 EA	17.23	1	073444XA
34 20008	ORLY LAQ .6fl oz/18ml LIFT THE VEIL	144 EA	18	1	123204XA
35 2000038	ORLY LAQ .6fl oz/18ml LILAC YOU MEAN IT	36 EA	21	1	032484XA
36 20484	ORLY LAQ .6fl oz/18ml LIQUID VINYL	36 EA	21	1	030165XA
37 2000012	ORLY LAQ .6fl oz/18ml LOVELLA	108 EA	19	1	030985XA (11)
					030985XB (97)
38 20025	ORLY LAQ .6fl oz/18ml MA CHERIE	36 EA	41	1	030215XA
39 2000241	ORLY LAQ .6fl oz/18ml MEET CUTE	36 EA	41	1	072694XA
40 20006	ORLY LAQ .6fl oz/18ml NAUGHTY	216 EA	20.21	1	070985XA (211)
					033534XA (5)
41 2000063	ORLY LAQ .6fl oz/18ml OPULENT OBSESSION	36 EA	22	1	030275XA
42 2000156	ORLY LAQ .6fl oz/18ml PARCS & PARASOLS	36 EA	22	1	071984XA
43 20944	ORLY LAQ .6fl oz/18ml PENNY LEATHER	36 EA	22	1	072784XA









44 2000212	ORLY LAQ .6fl oz/18ml PERSISTENT MEMORY	72 EA	23	1	070234XA
45 22009	ORLY FM LAQ .6fl oz/18ml PINK NUDE	432 EA	24-26	1	033544XA
46 20651	ORLY LAQ .6fl oz/18ml PLUM NOIR	36 EA	28	1	033374XA
47 22503	ORLY FM LAQ .6fl oz/18ml POINTE BLANCHE	216 EA	27.28.	1	032624XA
48 20754	ORLY LAQ .6fl oz/18ml PRELUDE TO A KISS	36 EA	29	1	032554XA
49 20715	ORLY LAQ .6fl oz/18ml PRINCE CHARMING	36 EA	29	1	P30975XA
50 2000161	ORLY LAQ .6fl oz/18ml PROVENCE AT DUSK	36 EA	29	1	030945XA
51 20076	ORLY LAQ .6fl oz/18ml RED FLARE	252 EA	413.414	4	031205XA
	personal contraction and account a posterior of source more				
52 2000058	ORLY LAQ .6fl oz/18ml ROAM WITH ME	72 EA	30	1	030995XA
53 2000021	ORLY LAQ .6fl oz/18ml ROSE ALL DAY	72 EA	30	1	032954XA
54 22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASSES	540 EA	31-33.34	1	120575XA
55 20363	ORLY LAQ .6fl oz/18ml RUBY	324 EA	35.36.29	1	030985XA (305)
00 20000					030985XA (19)
56 20186	ORLY LAQ .6fl oz/18ml SEASHELL	36 EA	37	1	071834XA
57 2000300	ORLY LAQ .6fl oz/18ml SHAKY ALIBI	36 EA	37	1	P51573XB
58 20943	ORLY LAQ .6fl oz/18ml STILETTO ON THE RUN	216 EA	38.37	1	120975XA
59 22001	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	360 EA	39.40.41	1	070595XA
60 2000061	ORLY LAQ .6fl oz/18ml WILD ABANDON	36 EA	34	1	071314XA
61 20757	ORLY LAQ .6fl oz/18ml YOU'RE BLUSHING	72 EA	42	1	072674XA
62 24110	ORLY TRT .6fl oz/18ml BONDER BASECOAT	1476 EA	69-78.68	2	120245XA (1080)
02 24110			00 10.00	-	120285XB (396)
63 24114	ORLY TRT 4fl oz/118ml BONDER BASECOAT	48 EA	90	3	P40645XA
64 24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	36 EA	67	2	073404XA
65 24210	ORLY TRT .6fl oz/18ml GLOSSER	72 EA	67	2	073374XA
66 24230	ORLY TRT .6fl oz/18ml WON'T CHIP	36 EA	67	2	073374XA
67 24270	ORLY TRT .6fl oz/18ml POLISHIELD	2088 EA	53-66.68	2	072994XB (10)
				_	072964XB (314)
					072974XA (1368)
					072994XA (396)
68 24274	ORLY TRT 4fl oz/118ml POLISHIELD	96 EA	91	3	P43454XA
69 24310	ORLY TRT .6fl oz/18ml SEC N' DRY	360 EA	79.80.81	3	120175XC
70 24314	ORLY TRT 4fl oz/118ml SEC N' DRY	48 EA	90	3	P40285XA
71 24320	ORLY TRT .6fl oz/18ml IN A SNAP	36 EA	68	2	073374XA
72 24510	ORLY TRT .6fl oz/18ml CUTIQUE	108 EA	385	10	P62684XA
73 24554	ORLY TRT 4fl oz/118ml CUTICLE OIL+ (PLUS)	384 EA	392-395	11	090805XA
74 24670	ORLY ESS 4fl oz/118ml CLEAN PREP	276 EA	88.89.	3	P40915XA
75 24660	ORLY ESS 16fl oz/473ml CLEAN PREP	48 EA	49-52.81.90	1.2	P40915XA
76 24340	ORLY TRT .6fl oz/18ml FLASH DRY	540 EA	83-85.82	3	P70575XA (386)
10 24040		010 21	00 00.02	0	P81135XA (154)
77 24344	ORLY TRT 4fl oz/118ml FLASH DRY	120 EA	92.97	3	P41125XA (77)
					P40555XA (43)
78 24160	ORLY TRT .6fl oz/18ml NAILTRITION	36 EA	82	3	120875XC
79 24500	ORLY TRT .6fl oz/18ml ARGAN OIL CUTICLE DROPS	432 EA	382-384	10	P63484XA
80 26077	ORLY PED 4fl oz/118ml CALLUS ERASER	300 EA	86.87.89	3	090435XA
81 26078	ORLY PED 16.5fl oz/488ml CALLUS ERASER	16 EA	97	3	090435XA
82 26058	ORLY PRO 33.8oz/958g PURIFYING SOAK	468 EA	127-243	5.6.7	102814XA (14)
	esemptiones a factorial devices and in a late of a late factor in the late of an even of				101115XA (141)
					101085XA (141)
					101125XA (32)
					102784XC (140)
83 23038	ORLY PRO 1Gal/3.78L MOISTURIZING EXFOLIATOR	174 EA	314-365.415-449	9.11.12.4	100725XA (71)
					101215XA (69)
					100715XA (34)
84 23037	ORLY PRO 26.5fl oz/784ml MOISTURIZING EXFOLIATOR	122 EA	284-313.450	8.11.12	100555XA
85 26089	ORLY PRO 26.5fl oz/784ml RENEWING MASK	160 EA	244-283	78	110975XA (76)
					111005XA (84)
86 26048	ORLY PRO 33fl oz/976ml MASSAGE CREME	288 EA	366-381	10	090365XA (235)
					090355XA (53)
87 26046	ORLY PRO 8.5fl oz/251ml MASSAGE CREME	80 EA	400.401.402	11	090455XA
88 23575	ORLY ZEBRA BOARD CANISTER 74PC PK	6 EA	403	12	2172025
89 23209	ORLY ESS 16fl oz/473ml GENTLE-STR NAIL LAQ RMVR	12 EA	26	1	040635XA
90 23135	ORLY ESS 2fl oz/59ml NAIL LACQUER THINNER	84 EA	91.92	3	040665XA
91 23115	ORLY 32fl oz946ml GENIUS ALL PURPOSE REMOVER	224 EA	98-125	3.4	041075XA
92 2460003	ORLY BRTHABLE TRT.6fl oz /18ml CUTICLE OIL	36 EA	385	10	P60785XA
93 2060015	ORLY BREATHABLE .6fl oz /18ml CHERRY BOMB	36 EA	42	1	120385XA
94 20910	ORLY BREATHABLE .6fl oz /18ml HAPPY & HEALTHY	36 EA	42	1	120915XA
95 20953	ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	216 EA	43.44	1	120485XA
96 20905	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	36 EA	44	1	123324XA
97 20963	ORLY BREATHABLE .6fl oz /18ml NAMASTE HEALTHY	36 EA	44	1	120525XA
98 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUDE	108 EA	45	1	120315XA
99 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLION	36 EA	45	1	120705XA
100 20913	ORLY BREATHABLE .6fl oz /18ml PAMPER ME	72 EA	46	1	123544XA
	00000000000000000000000000000000000000	000000			
	SO - RNAT	1 . 00			









101 20988	ORLY BREATHABLE .6fl oz /18ml PATIENCE AND PEACE	36 EA	48	1	120365XA
102 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	72 EA	46	1	P53164XA
103 2060016	ORLY BREATHABLE .6fl oz /18ml RIDE OR DIE	36 EA	47	1	123464XA
104 20966	ORLY BREATHABLE .6fl oz /18ml SHEER LUCK	36 EA	47	1	120495XA
105 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	72 EA	47	1	120355XA
106 2060014	ORLY BREATHABLE .6fl oz /18ml YOU'RE A DOLL	36 EA	48	1	121564XA
107 3510004	GELFX .6fl oz/18ml BUILDER IN A BOTTLE INTRO KIT PROFESS	24 EA	93-96	3	1312025
108 34000	GEL FX .6fl oz/18ml BODY GUARD	24 EA	407	12	P50845XA
109 34110	GEL FX TRT .3fl oz/9ml BASECOAT	48 EA	402	11	P63254XA
110 34210	GEL FX TRT .3fl oz/9ml TOPCOAT	96 EA	402	11	P60665XA
111 3423001	GEL FX TRT .3fl oz/9ml NO CLEANSE TOPCOAT	96 EA	97	3	P62974XA
112 3350005	GEL FX PERFECT FIT NAIL FORM 300/PACK	8 EA	402	11	2102025 (6) 9102024 (2)
113 3350002	GEL FX BLDR BUFFER/FILE 5 PACK 180 GRIT/100 GRIT	140 EA	405	11	4032025
114 33510 115 24514	ORLY BUFFER ORLY TRT 4fl oz/118ml CUTIQUE	36 EA 624 EA	404	11 10.11.12	1292025 090805XA (408)
115 24314		024 EA	386-391.407	10.11.12	090795XA (408)
					093384XA (104)
116 20064	ORLY LAQ .6fl oz/18ml ORLON BASECOAT	72 EA	48	1	P80585XA
117 20984	ORLY BREATHABLE .6fl oz /18ml GRATEFUL HEART	36 EA	414	4	122574XA
118 23574	ORLY BLACK BOARD CANISTER 100PC PK	2 PK	407	12	3252025 (1) 2192025 (1)
119 2001009	ORLY PRO NAIL PALETTE SET 2024	300 EA	396-397.404	11	12232024
120 2061005	ORLY BREATHABLE NAIL PALETTE SET 2024	300 EA	398.399.	11	1132025
121 3510000D	ORLY 21pc INTRO GELFX ESSENTIALS DISPLAY	50 EA	408-411.412	12.11	9282021





